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1. :

, 
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, , 
2. :

3. : 

4. :

 1  2 km 

5. : 

(sonorous)  (Brass)  (bronz) 

6. : 



7. : 

8. :
Au, 

Ag, Pt 
9. 

 : 
(i) 

(Os) 

(ii) 

(iii) 
( ) 

(iv) 

(v) 

(vi) 

(vii) 
Cu, Cr, Ag, Au, Pt, Os, Ir, Ti, W 

1g cm–3 

(viii) 1 3 

2 

(ix) 

(x) 

10. (Anodising) :

(corrosion)

 H2SO4 
 O2 



11. : 

K2O  +  H2O      2KOH
ONa 2  + H2O     2NaOH

CaO  + H2O     2Ca(OH)

MgO + H2O(hot)  2Mg(OH)  

12. :

13. : 

Na2O 
( ), CaO ( ), K2O 
( ), MgO ( ) 

MgO + HCl  MgCl2  + H2O 
14. : 

CO2 
( ), SO2 ( ), 
SO3 ( ), P2O5 (

), SiO2 ( ) 

CO2 + 2NaOH  Na2CO3 + H2O 

15. : 

ZnO ( ) 
Al2O3 ( ) 

ZnO + 2HCl  ZnCl2 + H2O 
2NaOHZnO   22ZnONa  + H2O 

16. : 

(CO), (NO), 
(N2O) 

17. : 

NaCl 
 KCl 

2Cl2Na  2NaCl

18. : 

(NaH), ( ) 
(CaH2) 

2H2Na   2NaH

19. : 

Na2O + 2HCl(dil)    2NaCl + H2O 



 Edubull

CaO(s) + H2SO4(dil)   CaSO4 + H2O  
MgO(s) + 2HCl(dil)    MgCl2 + H2O 
CuO(s) + 2HCl(dil)     CuCl2 + H2O 
CuO(s) + H2SO4(dil)    CuSO4 + H2O 
Fe2O3(s) + 6HCl(dil)  2FeCl3 + 3H2O 
SnO2 + 4HCl     SnCl4 + 2H2O 
PbO + 2HCl     PbCl2 + H2O  
PbO + H2SO4   PbSO4 + H2O 
AlP3 + 6HCl      2AlCl3 + 3H2O 

32OAl + 2NaOH

  22NaAlO + OH2

2SnO  +   2NaOH

  32SnONa + OH2

HgO + 2HCl   HgCl2 + H2O  
HgO + H2SO4    HgSO4 + H2O 
ZnO + 2HCl     ZnCl2 + H2O 
ZnO + H2SO4   ZnSO4 + H2O 
ZnO + 2KOH    22ZnOK + H2O 

20.  : 

 Al, Zn, Cu, Mg, Sn, 
Pb, 

H2O, O2 
HNO3 

MgO , 

 HgO 

 : 

K 
Na 
Ca 
Mg 
Al 
Zn 
Fe 
Pb 
H 
Cu 
Hg 
Ag 
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Au 

21.  : 

Mg, 
Zn, Al, 

 Fe  Fe3O4  H2(g)
 Cu, Ag, Au, Hg, Pb  Pt, 

22. : 

23. :  HCl  HNO3 (
)  3 : 1 

HCl  HNO3 

NOCl ( ) 

(
) 

24. 
 : 

25.  : 

1  3  4 
 8 

1  2 

26.  : 
.

K L M N O 
1. H 1 1 1 
2. He 2 2 2 
3. Ne 10 2, 8 8  ( ) 
4. B 5 2, 3 3 
5. C 6 2, 4 4 
6. N 7 2, 5 5 



7. O 8 2, 6 6 
8. F 9 2, 7 7 
9. Na 11 2, 8, 1 1 
10. Mg 12 2, 8, 2 2 
11. Al 13 2, 8, 3 3 
12. K 19 2, 8, 8, 1 1 
13. Ca 20 2, 8, 8, 2 2 

27. : 
 8

1,2Li   2Li    +  e– 

1,8,2Na  8,2Na +  e– 

1,8,8,2
K  8,8,2K +  e– 

1,8,18,8,2 Rb 
8,18,8,2

Rb  +  e– 

2,8,2
Mg 

8,2
2Mg  +  2e– 

2,8,8,2 Ca 
8,8,2
2Ca   +  2e– 

3,8,2Al 
8,2

3Al   +  3e– 

28. : 

 8 

7,8,2
3Cl    +   e–    

8,8,2
Cl

5,2N   +   3e–   8,2
3N 

29. :

30. :

1,8,2Na  8,2Na + e– 

7,8,2Cl  + e–  8,8,2Cl

(Na+) ( Cl –
) 

2,8,2
Mg   

8,2
2Mg   + 2e–

2Cl + 2e–   2Cl– 
(Mg2+)  ( Cl –)2 

3,8,2Al  Al3+ + 3e– 
3F  +  3e–  3F– 
(Al3+)  ( F –)3 

1,8,2Na2  2Na+ + 2e– 
O  +  2e–  O2– 
(Na+)2 ( F 2–)



31.  : 
(i) NaCl, KCl, 

CuSO4, K2SO4, NaNO3

(ii) 

(iii) 
 NaCl 

(iv) 

(v) 

(vi) 

(vii)

(viii) 

32. :

Ag2S 

CuCO3.Cu(OH)2 
Fe2O3xH2O 

, 

(A) 

1. 
 : 

2. 
 : 

3. 
 : 

4. 
 :  : 

5. 

:  : 

6.



(B) 

1. Na+, K+, Ca2+, 
Mg2+, Fe2+

Cl–, S2–, N3–

2. 

Na2O + H2O  2NaOH 
CaO + H2O  Ca(OH)2

CO2 + H2O    32COH

SO2 + H2O   32SOH

SO3 + H2O    42SOH

3. 
Zn + H2SO4  ZnSO4 + H2

4. 
:  (Na, Ca, Li, Be, ) 

5.  

NaCl + H2O    No 
AlCl3 + 3H2O   Al(OH)3 + 3HCl 

PCl3 + 3H2O  3HCl + H3PO3  
SiCl4 + 4H2O  Si(OH)4 + 4HCl 





(
) 

(
)

: 
-

, NaCl, KCl, CaCO3, MgCO3, ZnS, 
Cu2S, Fe2S3 

1. 
2. 
3. 
4. 
5. 
6. 
7. 
8. 

, 
, 

 ( ) 

, , 
UP, ,'MP, 

, , MP 

, 

 : 

(Al2O32H2O) (Al2O32SiO2.2H2O) 

: 
(i) 

(ii) 

1. : , , , , 
, 

2. : , , , , ,
, 



3. : , , , 
, , , , 

4. : , , , , 

5. : , , , 

6. :



 : 
1. :

2. : 

3. :

4. :

5. :

6. :

 SiO2 
P2O5 ( - CaO) 

MnO 

SiO2       + CaO    CaSiO3
P2O5       + 3CaO    Ca3(PO4)2 
MnO       + SiO2    MnSiO3 

7. : 
-

8. :

 : 

1.  (K, Na, Ca, 
Mg, )

2.  (Zn, Fe, Pb, 
), 

3.  (Au, Ag, Pt, 
Cu) 

 : 
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1. 
2. 

3. 
4. 

 : 
-

( )

(i) : 

(ii) :

 (iii) : 

(iv) : 
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(v) : 

Fe2O3, SiO2 

A12O3  SiO2 

(Al2O3).

Al2O3 + 2NaOH   2NaAlO2 + H2O  
NaAlO2 + 2H2O   Al(OH) + NaOH 
2Al(OH)  Al2O3 + 3H2O  

 : 
(i) 

Al2O3 . 2H2O  Al2O3 + 2H2O 
(ii) 

CaCO3  CaO + CO2  
CaC03  MgCO3  CaO + MgO + 2CO2 

3ZnCO   ZnO + CO2 

CuCO3 Cu(OH)  2CuO + H2O + CO2 

(i) (ZnS) 

 2ZnS + 3O2  2ZnO + 2SO2 
(ii)  (PbS), (PbO) 

 2PbS + 3O2  2PbO + 2SO2 
(iii)  (HgS)  (Hg)

HgS + O2  Hg + SO2 
(iv) (FeS2) 

 (Fe2O3) 
4FeS2 + 11O2  2Fe2O3 + 8SO2 



1. 

2. 

 : 

(i) 

2HgS + 3O2  2HgO + 2SO2 
2HgO  2Hg + O2 

(ii)  (Fe, Zn, Ni, Sn, 
) 

( )

COMCMO )M(  

: 
(i) 

ZnO + C  Zn + CO 
(ii) 

SnO2 + 2C  Sn + 2CO 
(iii) (Fe2O3) 

Fe2O3 + 3C  2Fe  + 3CO 
(

) 

 : 
(i) 

3MnO2 + 4Al  3Mn + 2Al2O3
(ii)  (Fe2O3), 

Fe2O3 + 2Al  2Fe + Al2O3 
(iii) 

Cr2O3 + 2Al  2Cr + Al2O3 

(
)

-



(

(iii) : 
( ) 

 : 
 (i) 

2iselectrolys

2

fused

ClNa2NaCl2
)anodeat(Na2Na2
)anodeat(e2ClCl2

Cl2Na2NaCl2

 
 

 
 





(ii) 

2iselectrolys2

2 2

2fused2

ClMgMgCl
)cathodeat(Mge2Mg

)anodeat(e2ClCl2
Cl2MgMgCl

 
 

 
 






 (iii) (Al2O3) 

Al2O3  2Al3+ + 3O2– 

: 

(iv) 

( ) (
) 

2Na[Ag(CN)2] + Zn  Na2[Zn(CN)4] + 2Ag 
2Na[Au(CN)2] + Zn  Na[Zn(CN)4] + 2Au  

 : 

1. :
( - 

) 



2. :

3. :
[ ] 

4.  : 

( ) 
( )

 : 

1. : 

-
Ti + 2I2  TiI4 

 (1674 K) 

2.  : 



Fe 26 
 : 
26 

26 

K L M N 
Fe(26) 2 8 14 2 

2

-
- 4.7% 

(i) , Fe2O3 
(ii) , Fe3O4 
(iii) , 2Fe2O3 . 3H2O 
(iv) , FeCO3 
(v) , FeS2 

 (FeS2) 
 : 

 2002-03 
97 
12,318 5,396 

 : 
1.  : 

2.  : 

(i) 873 K 
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2C + O2  2CO 
Fe2O3 + 3CO  2Fe + 3CO2 

(ii) 1273 K

CaCO3  CaO + CO2 
CaO + SiO2  

slag 3CaSiO

(iii) 1573 K 

:

CaCO3  CaO + CO2 

 ( )
CaO + SiO2  CaSiO3

 : 
1.  : 

2. :
0.12% 0.25% 

(1773 K) 
/

(Fe2O3)
 Fe2O3

Fe2O3 + 3C  2Fe + 3CO 

3. : 
0.15 1.7% 

(a)  :  0.3% 

(b) : 
(0.7-1.7%) 

(c)  : 



(d)  :  0.3-0.7% 

C Si S P Mn
2-4.5% 0.7-3.5% 0.7-3.5% 0.05-1.5% 0.5-1.0%

0.12-0.25% 0.03-2.0% 0.02-0.2% 0.04-0.07% 0.1-0.4%
0.15% 0.03% 0.05% 0.05% 0.50%

 : 

 : 

 : 

 : 

 1808 K 
3023 K 7.9 × 103 kg 
cm–3

 : 

1. :  2  3
(Fe2+) 

(Fe3+)

 FeCl2  2
FeCl3, 

 3

2. :

 (2Fe2O33H2O)
3. :

ironFe2  +  
steam2

OH4  
oxidericferrosofer 43OFe + 

hydrogen2H4

4. : 

(i) 
(a) 

Fe + 2HCl  FeCl2 + H2 
(b) 

(ii) 
(a) 

Fe + H2SO4  FeSO4 + H2 
(b) 

Fe + 2H2SO4  FeSO4 + SO2 + 2H2O 



FeSO4  H2SO4

2FeSO4 + 2H2SO4  Fe2(SO4) + 2H2O + SO2  
(iii)  : 

(a) 

4Fe + 10HNO3  4Fe(NO3)2 + 
 NH4NO3 + 3H2O 

(b) 
(Fe3O4) 

5. : 

2Fe + 3Cl2  2FeCl3
6.  : 

Fe + S  FeS 
7. : 

Fe + CuSO4  Cu + FeSO4

(i) 

FeSO4 + 2NaOH  Fe(OH) + Na2SO4 

Fe2(SO4)3 + 6NaOH  2Fe(OH) + 3Na2SO4

(ii) 

 : 

(Fe2O3) 
 ((Fe(OH3)) 

Fe2O3  Fe(OH) 

(i) 
(ii) 

 : 

1. 

2.



3. 

4. 

 : 
1. 

2. 

3. 

Al 13 


 1827 

AlCl3 + 3Na  Al + 3NaCl

1886 
USA 

19 

2. 

Figure 
 2303 K 

1173-
1223 K 

Na+, Al3+, P–  O2– 

 AL3+ 

 O2– 

Al3+ + 3e  Al    ( ) 
2O2–  O2 + 4e   ( ) 

CO2 

C + O2  CO2 



1. Cu = 80%, Zn = 20%  Cu  Zn  ; , 

2. Cu = 90%, Sn = 10% 

3. ( ) Sn = 50%, Pb = 50% 

4. Al = 95.5%, Cu = 3% 
Mn = 1% Mg = 0.5% 

5. Sn = 90%, Sb = 7%, Cu = 3% 
6. Cu = 60%, Zn = 20%, Ni = 20% 
7. Cu = 60%, Sn = 10% 
8. Cu = 78%, Sn = 22% 
9. Al = 90%, Mg = 10% 
10. Sn = 75%, Pb = 25% 
11. Pb=82%, Sb = 15%, Sn = 3% 

1. Mn = 10 – 18% 

2. - Cr = 1-10%, V = 0.15% 

3. - Ni = 1-4%, Cr = 0.5-2% 

4. 18–8 Cr = 18%, Ni = 8% 
5. Co = 5% 

 : 1. CaCO3   Heat  CaO + CO2 



2. CaO + SiO2  CaSiO3
3. C + O2  CO2
4. 4P + 5O2  2P2O5
5. S + O2  SO2 
6. 4Na + O2  2Na2O
7. 4K + O2  2K2O
8. 2Ca + O2  2CaO
9. CO2 + C  2CO
10. Fe2O3 + 3CO  2Fe + 3CO2
11. Al2O3 2H2O + 2NaOH  2NaAlO2 + 3H2O
12. NaAlO2 + HCl + H2O  Al(OH)3 + NaCl
13. 2Al(OH)3  Heat Al2O3 + 3H2O
14. 2CuS + 3O2  2CuO + 2SO2 
15. 3MnO4 + 4Al  2Al2O3 + 3Mn
16. Fe2O3 + 2Al  Al2O3 + 3Mn
17. CuS + 2CuO  3Cu + SO2
18. Si + O2  SiO2
19. SiO2 + C  Si + CO2
20. Si + 

)Steam( 2OH2  SiO2 + 2H2

21. Ca(OH)2 + Cl  OHCaOCl 2powerBleaching 2 

22. CaSO42H2O   K373   CaSO4  2
1 H2O + 2

3 H2O
23. OH2SO3SOH2S 22.)conc( 42 
24. H2 + S  H2S
25. 2NaOH + SI + H2O  Na2SiO3 + 2H2 
26. C + H2O (Steam)  Na2SiO3 + 2H2
27. P4 + 3NaOH + 3H2O

 
Phosphine3PH +  

itehypophosphSodium 22PONaH3

28. 22Cinnabar
SO2HgO2O3HgS2 

29. P4 + 6Cl2  4PCl3
30. P4 + 10Cl2  4PCl5
31. 2Mg + O2  2MgO
32. Na2O + H2O  2NaOH
33. K2O + H2O  2KOH
34. CaO + H2O  Ca(OH)2
35. 2Na + 2H2O  2NaOH + H2
36. 2K + 2H2O 2KOH + H2
37. Ca + 2H2O  Ca(OH)2 + H2

38. Mg + H2O boil  MgO + H2

39. Zn + H2O boil  ZnO + H2
40. 3Fe + 4H2O (Steam)  Fe3O4 + 4H2
41. Zn + H2SO4 (dil)  ZnSO4 + H2
42. 2Na + 2HCI  2NaCl + H2

43. Cu + 
.Conc 42SOH2  Heat  CuSO4 + 2H2O + SO2

44. Mg + 2HCl    MgCl2 + H2
45. 2Al + 6HCl    2AlCl3 + 3H2
46. Zn + CuSO4   ZnSO4 + Cu
47. Fe + CuSO4    FeSO4 + Cu
48. Cu + 2AgNO3    Cu(NO3)2 + 2Ag
49 Cu(s) + 2Ag+    Cu2+(aq) + 2Ag(s) 
50. CaCO3 + SiO2    CaSiO3 + CO2

51 CuCO3  Heat  Cu + CO2 
52. ZnCO3  Heat  ZnO + CO2

53. 2Na + H2  Heat  2NaH
54. NaH + H2  Heat  NaOH + H2
55 4Al + 3O2  2AlP3 
56. Ca + Cl2   CaCl2

57. Fe  + S  Heat FeS
58. 2Al + 3Cl2  2AlCl3



59. 2Fe + 3Cl2  2FeCl3
60. Fe + H2SO4 (dil.)  FeSO4 + H2
61. Fe + 2HCl (dil.)  FeCl2 + H2
62. Mg + H2SO4 (dil.)  MgSO4 + H2
63. 2Al + 2NaOH + 2H2O  2NaAlO2 + 3H2

64. Zn + S  heat ZnS
65. FeS + H2SO4 (dil.)  FeSO4 + H2S
66. Cu + Cl2  CuCl2
67. 2Cu + Oz   2CuO
68. CuO + H2O   Cu(OH)2
69. Cu(OH)2 + CO2  CuCO3 + H2O
70. Ca(OH)2 + CO2   CaCO3 + H2O
71. 2NaHCO3   Na2CO3 + H2O + CO2
72. 2ZnS + 3O2  2ZnO + 2SO2
73. SnO2 + C  Sn + CO2

74. FeCO3   FeO + CO2

75. Na2CO3·10H2O  Na2CO3 + 10H2O
76. NH3 + H2O + CO2  (NH4)HCO3
77. (NH4)HCO3 + NaCl  NaHCO3 + NH4Cl
78. CO2 + H2O  H2CO3
79. SO2 + H2O H2SO3
80. SO3 + H2O H2SO4
81. S + 6HNO3 (Conc.)  H2SO4 + 6NO2 + 2H2O
82. P2O5 + 3H2O  2H3PO4
83. N2O5 + H2O   2HNO3

84. Si + 2Cl2  heat  SiCl4
85. Si + 4HCl   SiCl4 + 2H2
86. P + 5HNO3 (Cone.)  H3PO4 + 5NO2 + H2O
87. C + 4HNO3 (Cone.)   CO2 + 4NO2 + 2H2O
88. Ca3(PO4)2 + 3SiO2   3CaSiO3 + P2O5
89. 2P2O5 + 10C   P4 + 10 CO

90. P4 + 3O2  2P2O3
91. P4 + 5O2   2P2O5

92. C + 2S  heat  CS2
93. Cu + 

.)Conc( 34HNO    Cu(NO3)2 + 2NO2 + 2H2O

94. 3Zn + 8HNO3(dil)  3Zn(NO3)2 + 2NO + 4H2O
95. Mg + 2HNO3 (5%)  Mg(NO3)2 + H2
96. Mn + 2HNO3 (5%) Mn(NO3)2 + H2
97. 4Zn + 

.)dil.V( 310HNO  4Zn(NO3)2 + NH4NO3 + 3H2O

98. Mg + ZnSO4   MgSO4 + Zn
99. Mg + CuSO4   MgSO4 + Cu
100. Mg + FeSO4   MgSO4 + Fe 



 







  Li, Na  Ca 







Flux combines with the nonfusible impurity to
convert it into a fusible substance known as slag. 






 CaSiO3

 (CaO)






 -







 

 



  (Al2O3  2H2O)








(CuFeS2)

 300°C 
(CuO)

 (Cu2O)
 

 NO2 


 3 : 1










